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We'll explain in this study the diffirense between the provided services and the attraction of
tourists.swimming pool in the island with beautiful beaches it have 0.79 mean differences but in the

beach access have 0.66 so it very high for customers.historical attractions and museum std error is 0.22
but in the swimming pool is -0.79 so is beggar.event and exhibition in luxurious restaurent have sig 521
but in luxurious have sig 985 so is biggest.large and popular cities in the car parking service have upper

bound 0.36 but in the massage have -0.10 so is very lost.nataral and rule places in tennid court have
lower bound -0.44 but in golf court have -0.45 so is biggest.the location have -0.49 it aroun them.

According to the data and values, there are differences between the services provided to tourists, which
in turn determine the customer demand for them by the nature of the services provided to them in a

.research way that gives these differences


